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MATHEMATICS SSC-II

(For Hearing Impaired Children)
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section—A is compulsory. All parts of this section are to be answered on the question paper itseif. It

should be completed in the first 20 minutes and handed over to the Cenfre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Ciicle the correct option i.e. AJ B/ C/D. Each part c#rries one mark,

(i is a value which is obtained by dividing sum of all values by the number of values present in data.

A, Median B. Arithmetic Mean C. Mode D. Arc
(iiy has three sides.

A, Square B. Circle C. Triangle D. Rectangle
{iii) Right angled triangle has one angle of degree.

A Zero B. 360° c. 180° D. 90°
{v) if x:v=a:b,then .
Y
A kil B. L2 C. ‘a xb D. a+b
b a

(v) When the dafa is in Ascending or Descending order, the Median is that value which divides data in equal

parts. ‘

A. 4 B. 3 : C. 2 D. 8
{vi) in the class interval 49 — 53, the upper class limit is:

A, 49 B. 53 C. 3 D. 9
(vii) Length of a circle is called its:

A Diameter B. Radius C. Chord D. Circumference
{viii) Distance from any point of circle to its center is called: 7

A Radius B. Diameter C. Line D. Circumference
(x) Which sentence is true?

A 7T+5=6 B. 7+5>6 c. . T+5<6 b. 7-5>2
{x) - Which one is the equation out of the following?

A, 2y=10 B. 2y>10 C. 2y <10 b. y>1
(i) ZX =

n

A. Mode B. Arithmetic Mean C. Median D. Graph

wiy 222 then:
b ¢
A. b=ac B. c’ =ab C. @ =hc D. b =ac

{xiif}) Which one is the open sentence?
A 3+5>7 B. 3+5<2x C. 35«7 D. 3+5=8

{xiv) Which one is the linear equation?

A. 5-z>2 B. x-5<3 C. X*+e=0 D. x+c=0
(xv) In any data the value which is present maximum number of times is called:
A. Median B. Average C. Mode D. Arithmetic Mean

For Examiner’s use only:

Total Marks: 15

Marks Obtained:
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MATHEMATICS SSC-Il 7
(For Hearing Impaired Children)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer any twelve parts from Section ‘B’ and any three questions from Section “‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. '

Note:

Q.3
Q4.
Qs.

Q6.

: SECTION — B (Marks 386)
Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
{i) Find the Mean Proportional 16,9.
{ii) Define Median.
(iii) Eliminate x by comparison method ax—b6=0 ; cx~d =0

(iv) For what value of m the ratio 6m+4:8m+2 is equal to ratio 4:5
(V) Find the Arithmetic Mean 4,6,10,12,15,20,25,28,30

(vi)  Find the Fourth Proportional 3a’%*,5ab*,9ab

(vii  Factorize 9x* —6x—8=0

(vii)  Find the solution set of the standard quadratic equation ax? +bx +c =0 for the following values
a=95b=8,c=3

(ix) Plot the point {-1,3) on graph paper.

{x) Plot the graph of following by taking at least two ordered pair 3x -4 =5y

{x) Separate frue and false sentences.
(i) 3+4=6 (i) 3+7<~5 (iif) 7+5>6
(xif) Separate the Algebraic Expressions and Algebraic Sentences:
1 x-1 2
i 3x+2y+z ii —z=1 il S =
() y (ii) Ng (iii) 573

(xiii)  Separate the open sentences:
(i) 3+4<2x (i) 3+4x=5 (i) 7-3>12
(xiv)  Find the third proportional 3,12
{xv) Following are the heights of 12 students in inches. Find the Median.
55,53,54,58,60,61,62,56,57,52,51,63
(xvi)  Eliminate x by comparison method x— pg=10; i;-z m

(xvii) Separate the linear equations:
D S5—z>2z (i) k+m=0 iii) x+c=0
(xviii) Separate the equations and in-equations:

) 3p+8<11 (i) %st% (iif) 2x—10=~;_
SECTION — € (Marks 24)

Attempt any THREE questions. All questions carry equal marks. (3x 8=24)

Define Diameter of circle and illustrate by drawing diagram.

Construct a triangle if possible, when mAB = 3.8cm, mBC =4cm, mZB=175°

Students of 10th class obtained following marks out of 100 marks. By taking 6 as the size of class interval
prepare a frequency table 58.59,58,33,40,58,45,46,43,45,45,50,52,49,50,57,63,55,49,50,65,49,48,44,42,
47,46,47,46,53,40,44 .

A student ‘Shariq’ obtained following prizes in his five classes.

Class sth 7th 8th gth 10th
Prizes 5 12 17 21 25

Draw a simple bar diagram to represent the prizes.
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